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TH2E: What is Yellow Food?




WHAT IS YELLOW FOOD?

Recently, many people are interested in the
color of their food. Especially, black food
like black beans and seaweed has become
popular. Well, have you ever heard of yel-
low food? Yellow food includes pumpkins,
potatoes, sweet potatoes, grapefruits, cur-
ry and so on. And their color is all yellow.
The reason why they are famous is their nu-
trients help us fight against cancer.

In addition, beta carotene in yellow food
is a powerful anti-aging substance, So, lots
of women who want to look younger are
showing much interest in yellow food. This
food is also easy to cook and good to eat.
If you have a pot to cook in and a stove to
cook on, you can enjoy boiled pumpkin pie
or baked potatoes.When you eat steak,
grapefruit will be a good appetizer with
salad. If you want to treat your friends to
lunch on Sunday, you can serve food such
as curry. Do you want to be healthy and
keep your youth? Then, enjoy this yellow
food.
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(1) Mother made me (wash / to wash) the dishes.
(2) Jenny won’t let me (look / looks) after her brother.

R|ZHEAQ| 5 BAl 24 2| ZHE A (see, feel, hear..) + 240] +SA}
213 (HR AL

(1) 1saw Jack (play / plays) the guitar in his room.
(2) Tom heard a bird (to sing / singing) on the tree.

ZAISAL| 54 27 ZAIGSAHhelp) + SH0 + SALUH (to
SHZAD
T O

(1) Teacher helped me (to finish / finish / finished) the home-
work.
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Ex) She found herself deserted by her parents.
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